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1. Rank the following radicals in order of Decreasing stability
I [l 1] v
AM>10>1>1v B)HW>I<I<IV C)I>1M>1>IV D)INl<Ill<I<IV
2. Which of the following is the least stable carbanion ?
(A) HC=C (B) (CH,).C (C)(CH,).C (D) CH,
3. The most stable anion is :
S, S
O o° NH CH,
(A) © ®) © © @ D) @
4. The most stable anion is :
(©) 2 2
D e e e
5. Which of the following is the correct order of stability of free radicals?
(A) benzyl > allyl > 2° > 1° (B) allyl > benzyl > 2° > 1°
(C) allyl > 2° > 1° >benzyl (D) benzyl > 2° > 1° > allyl
6. Which of the following shows the correct order of decreasing stability ?

CH2 > CH3 - 6H2

A) CHa—@—CH > CH o—@—
O
(C) @—CH > CH O—@— H, > CH;
) CH o—@— @—CH > CH,— CH, > CH—@—EHZ

CH2 > CH3 - 6H2

EH, > CH, — CH,

@@@
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10.

11.

12.

Consider the following
O=C—NH,
i
CH3;CH,NH, CH5; CNH,

I Il [l
Correct order of their basic strength is
A)I<ll<l B)1n=>1>1l S )n>1u<l DO)l<1nr<l
Which of the following cannot be a base ?
P

o)
S ®
OH c NH,

(B) CHy~C-NH,  (C) @ ©)

Arrange the following in increas?ng order of pKa value ?

NHC:H;

>@ " @ -

A)ll <1<l yl<i<l CS)ynm<i<l D)yl <I<l
Select the basic strength order of following molecule :

N 2

S & &g

)
A N>N>IV>T (BYI>IV>II>] (C)IV>II>III>I (D) IV > 111> 1> I

Which of the following acid has the smallest dissociation constant ?

(A) CHB—(IZH—COOH (B) O,N-CH,-CH,~COOH
NO,
(C) CI-CH,~CH,~COOH (D) NC-CH,~CH,~COOH

Which of the following option shows the correct order of decreasing acidity :
(A) PhCO_H > PhSO,H > PhCH,OH > PhOH
(B) PhSO,H > PhOH > PhCH,OH > PhCO_H
(C) PhCO,H > PhOH > PhCH,OH > PhSO,H
(D) PhSO,H > PhCO,H > PhOH > PhCH,OH
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13.

14.

15.

16.

17.

Arrange increasing order of acidic strength of following dibasic acids :
(I oxalic acid, (I) succinic acid, (lll) malonic acid, (IV) adipic acid

A NI<lI<I<IV B II<l>1>IV (©C)I>1>1>IV D) I>I>1<IV

OH OH OH

NO,

NO,
NO,
I I1 I11
Arrange above phenol in increasing order of pK_ value :
(A<l <1l B)Mm<I<ll C)yn<nx<l (D)l <<l

Arrange the following compounds in increasing order of their acidic strength.

COOH GOOH COOH OH
CH;, Cl
| I 1] v
(A)IV<Il<I<l B)I<Ill<l<IV (C)IV<Il<Ill<I D)lI<ll<Ill<IV
Find the order of K of following compounds
NO,

(N () (1) (IV) (V)
OCH, NO,
NO,

(A) 1<l <<IV<VB)IV<I<l<N<VEC)HN<N<I<IV<VD)II<I<I<IV<V

COOH
2 Mole
=
NaHCO, Product
HO SO,H
COONa COOH COONa COONa
(A) (B) (C) (D)
NaO SO.H NaO SO,Na  HO SO.Na NaO SO,Na
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18.

19.

20.

21.

22.

23.

24,

Keto-enol tautomerism does not observe in :

o) o)
M)%&—g—H m)gm—g-cm

0 o)
(C)qm-g-cmcmk (D)qm_g-cm-g_cm

The enolic form of acetone contains :

(A) 9 o bonds, 1 = bond and 2 lone pairs (B) 8 c bond, 2 = bond and 2 lone pairs
(C) 10 o bond, 1 = bond and 1 lone pair (D) 9 ¢ bond, 2 = bond and 1 lone pair
The most stable carbonium ion is

@ @ @ @
(A) CH,CH, (B) C,H;CH, (C) C,H;CHC,H; (D) C4HsCH,CH,

Arrange the following carbanions in decreasing order of stability :

(€] [C] (€]
® CH, CH, CH,
CH, NO, OCH,

| I Il \Y
AN>1>IV>1 B> 1U>1>1V (C)I>1>1>1V  D)H>1>1>IV

The order of stability of the following carbanion is :

° e e
(O]
RCH,
(1) (I1) (1) (V)
A I>1> 11> 1V B)1>1=>1>1Vv
C)ywv>1>1>1 D) m=>1v=1>1
The shape of CH,* cation is likely to be:
(A) pyramidal (B) tetrahedral (C) linear (D) planar

Which of the following group is most basic in the given compounds :

(1) NH,

A
SN

3

@ |()
H
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25. How many of the following acids (given below) react with NaHCO, and liberate CO,(g) ?

COOH
cal,
CCI,—~COOH CH,—CH,-OH HCI
OH OH
COOH ON NO, OH
o™ QL
SO,H NO, NO,
ANSWER KEY
p
1. A) 2. (c) 3. (A 4 (B) 5. (A) 6. (B) 7. (D)
8. (D) o. (A 10. (D) 1. (C) 12. (D) 13. (C) 14. (C)
15. (A) 16. (D) 17. (C) 18. (A) 19. (A) 20. (C) 21. (D)
22. (D) 23. (D) 24. 2 25. 6
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